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5.45 

Έστω  Ο το σημείο τομής των διαγωνίων  ΑΓ , ΒΔ 

Τότε είναι  ,
 





 

  


 

Παρατηρούμε ότι :   
1 1

2 2
         ( γιατί οι διαγώνιοι διχοτομούνται ) 

Όμοια :   
1 1

2 2
      

Οπότε είναι :    
1 1

2 2
       

1

4
   
 

 

   ,
1

(
4

,               

   , ),              

 

 
1

3 3 1 3 1 1 3 1 1 1
4 6 6

    
                

  
 

1 3 3 1
3 3 3 1

4 2 2 2

  
           

  

 

Ακόμη :    
2 2 2 21 1

2 ,
4 4

                

2
21

3 2 3 1 1
4 6

 
       

 
 

 
1 7 7

3 3 1
4 4 2

        

Όμοια :  
2 2 2

21 1 1 3 1 1
3 2 3 1

4 4 2 4 2

 
             

 
 

Οπότε : 

1
2 2 72

77 1 7

2 2

 
    

  


 

 

 

 


